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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

Inter, (Part-II)-A- 2015

(For all sessions)

question with Marker or pen ink on the answer sheet provided.

Paper Code

i-1. Who recongnized the term function to describe the dependence of one quantity on other?

(A) Euler (B) Leibniz

2 Iff( ) then dnma:n of f is:

(A) real No (B) integer
f(x)-71(a)
3 ’EE}T G is equal to:
o 7' () @ /')

4. |f f(x)= , then f( ) is equal to:

1
(A) 2 (B) 3

2

5. The derivative of \[; atx=aq is;

d
B. E(secx) is equal to:
(A) secx tanx (B) —secx tanx
1
r 1+ %2 is derivative of:
(A) sin” x (B) sec™ x

I
A 27z ®) 2Va

3 _[x”dx = for NE-1

n+l n-1
(A) +c (B) . +cC
9. jfnxdx is equal to:
(A) Xtnx—x B) X—xlnx

(C) Langrange

(C) rational No

© (2

L | =

(C)

-

(C)

(C) sec’x

(C) tan™ x

i+l

(€) n+l

(C) xlox + x

(D) Bohr

(D) irrational
CRAY
(D) 3

-1
D) 2./a
(B) cosec’x
@) cot™ x

(D) n JC"—I +c

(D) —Lnx

Marks: 20




10. jx(x/;+l)dx

is equal to:
2 ¥ 2 5 ¥ 2.3
—_Y 2 + S 2 ek — )
(A) 3 ¢ (B) 5.?.‘.' +2+E (C) SI + £
11 Ja"dr is equal to:
a p fﬂa_l_c 1
(A) 7o B o © a*tna
2
2
12. ljl(x +1)dx is equal to;
__ﬁ_ 10
(A) 10 (B) 2 ©) 3
13. Isinxdx is equal to:
(A) 1 (B) 0 (C) 2

14. Bisectors of angles of a triangle are:

(A) parallel (C) concurrent

(B) perpendicular

15. If =0, then the line agx + by + ¢ = ( is parallel to:

(A) y—axis (B) X —axis

16. A function which is to be maximized or minimized is called:

(A) subjective function (B) qualitative function

17. Comics are the curves obtained by cutting a right circular cone by.

(A) aline (B) a plane (C) sphere

18. The parabola yl =4ax ,a>0 opens

(A) right (B) left (C) upward
19. The unit vector of a vector X is:
v /|
™ Ty) ® 2 © o]

20. The angle between the vectors 27 +3] +k and 2i - j-kis:
(A) 30° (B) 45° (C) 60°

639-012-A-3¢

(C) along X —axis

(C) objective function

(D) X2 +x+c

(D) @ Lna+c

(D) O

(D). -1
(D) non-concurrent

(D) None of these

(D) quantitative function

(D) two lines
(D) downward

¥y
(D) |EF

(D) 90°




Inter - (Part-II) -A-2015

Il No. to be filled in by the candidate. | (FOI all sessions) Subject code 01119
athematics (Essay Type)
Time: 2:30 Hours Marks: 80
Section -I 2x25=50
2. Write short answers of any eight parts from the following. 2x8=16
2x
- 2 2 .
i. Prove the identity c0Sech’x=cot h"x—=1 i Eyaluate the limit I;i‘;](1+;] :
e ; = , _ady e
iii. Differentiate x2 4252 +3 W.rt x. v. Find—" If Xty =a
T 1) dy ¥
v. Differentiate y=¢" "’ w.r.t X, vi. Find E If y=cos Xx,
dy ; dy
vii. Find — - ifX=ysmy, vii. Find —_ ify =xv{nx
dx dx
. . ! Jx-1 . ) . -1 X
- ix. Find J (x) Iff(x)‘—‘i‘-’ : x. Differentiate SIn/ (5] w.rt X,
xi. Write Maclaurins series expension of the function f (x) ;
~ xii. Determine the intervals in which f (x)=4-x*,x € (=2,2) increases or decreases.
3. Write short answers of any eight parts from the following. 2x8=16
il 3 s
i. Use differential find 7~ for* +2y" =16 i Evaluate: J'(x+1)(x-—3)dx.
. 1
> iii. Fing: (f”-’f)*;dx. (x>0) v. Evaluate; JS€CX &¥
- x+2
” N(onx) ax ;
. v. Evaluate: ( ) vi. Find .[ J:
2a X
vii. Evaluate: | ¥2 — g2 dx. (x:} a) viii. Evaluate; 1" x? +2dx_
ix. Find area bounded by the curve ¥ = 4—x* and Xx —axis.
» dy
x. Solve D.ESin y cosec x—=1
dx
_ Xi. Graph the solution set of 5x—4y <20,
xii. Define convex region.
4. Write short answers of any nine parts from the following. 2x9=18

i. Define Y —intercept of a line.
" ii. Find the slope and inclination of the line joining points 4(~2,4), B(5,11).

iii. Find the equation of the line bisecting first and third quadrants.

- iv. Find the points of intersection of lines X+4y—12=0andx-3y+3=0




v. Find the lines represented by 9x° +24xy +16y* =0
vi. Find the centre and radius of circle x* + y* +12x~10y =0

vii. Find focus and vertex of parabola x* =—16 y.

viii. Find the centre and foci of ellipse 25x* +9y* =225

2 xZ

ix. Find the centre and foci of hyperbola ==~ = 1

x. Find the unit vector in the direction of v = 2i — }
xi. Find @ so that ‘ﬂff +(a+1)j+ 2"{‘ =
xii. Find the scaler ¢ so that the vectors 27 +a}+5!§ and 3i +}‘+al€ are perpendicular.

xiii. Find the value of @ so that @i +j’ , i +}+3£ and 2i +}—2£ are coplaner. |
Section -II

]

|

| Note: Atternpt any three questions from the fonuwing. 10x3=30
T2x+1 R P

- 5.@ 1t S (¥)==7, thenfind f(x) and verify that fOf)x X

1 ' {nx
: (b) Find/ (x),when f(x)=(tnx)"

“Sinbx dx = —meze™ sin| bx—tan™ = | +
6. (a) Show that J¢" Sinbx dx = a2+bze sin| bx—tan™ — |+

(b) Find a joint equation of the straight line through the origin and perpendicular to the

lines represented by x? 4 xy~6y* =0

3"

X
x+1 :

7. (a) Evaluate: _[

(b) Maximize f(x,y)=2x+5ysubjecttu the constraints 2y—x<8;x—-y<4 ; x20, y20.

8. (a) Find the length of the chord cut off from the line 2X +3 =13 by the circle x> + y* =26

ipglniad y b aioliom | riSin L L R St et | gt S w TRt T o P, E RN,

(b) Find the angle between the vectors 3 =2j— j+k and y=—i+ j.
9. (a) Write an equation of parabola with focus (1,2) and vertex (3, 2).

(b) Prove vectorially sin(a — ) = sina cos S —cosasin 3.

640-012-A-10000




ﬁ** * Inter. (Part-iI)-A- 2016

RﬂllNO.____________m be filled in bythe candidute. (FOI‘ a" SESSiOHS) Paper Code 8 1 9 7

Mathematics (Objective Type)
Time: 30 Minutes

Marks: 20

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1 d -1 -1
141, Eg[lan Xx—cot x]z
~ 1 1 ] —]
(A) 14 x° (B} 1+ €) 1-x? (D) 1-x?
5 Iff(x)—lan Ixth f'(cotx)=
(A) cos®x (B) sin’x (C) cosec’x (D) cot’x
i[_l_m}_
3. dx| sinx
1 Sin x
(A) cosx B)  cosx (C) cosec’x (D) —cosecx cotx
d .
4. 'aTx(fﬁ't? ):
; ) !
(A) € (B) 1 (C) O
o
5. '[1+Jr2 L
s T T T
(A) B) & € 4 (D) 5
7
6. jkcmsxdx:ﬁl‘then k=
1]
(A) 5 (B) 4 (C) 2 (D) O
1
7. I g(x):?(x'i()) then gog(x) is equal to:
| : 4 1
(A) 1 (B) * ©c * (D)
j 2+43x
8. The function f(x) = x is not continuous at:
_ s 3 s )
' (A) ¥=7 B *T73 € *= D) ¥~
1d . 5\
9. ;E(sma )_
(A) 2xcosx’ (B) cosx’ (C) 2xcos®x (D) 2cosx’




10. Slope of line is 1(one) and angle made by line with X —axis =

0
(A) 45 (B) SE}U () 600
11. The solution set of x <4 =

(A) O<x<4 B) 10<x<15 (C) —o<x<4

12. Mid-poit of line segment joining foci of ellips is called its =

(A) centre (B) vertex (C) directrix

13. A circle touches the two axis at (a, 0 ) and ( 0, a ) then centre of circle is =

(A) (-a,a) B)(a,-2a) (C)(a,a)
14. Whatis the value of L2 b 2] -
(A) 1 (B) -1 (C) 0
15. Which of triples can be direction angles of a single vector =
(A) 90°, 90°,45°  (B) 0%, 0°,45° (c) 45°, 45°, 90°
Sin 2x
dx =
16. J ginx
: : 1 .
(A) sin 2x (B) 2sin2x (©) Esmx
Logx
dx =
17. _[ ” 2
; logx
i A
tan —dx =
18. .[ 4
A 1 sini) a G sect 2
(A) 4 (B) 1 (C) 4
sin p
dx =
19. I cos’ x
(A) Sin psec’ x () Sin ptanx () Cospsec’x
20. Centroid is a point which divides each median in ratio =
(A) 2: 1 B) 1:2 (C) 1:1

639-012-A- X I W

(D) 75

(D) 4<x<w

(D) major-axis

(D) {-E,-E:I

(D) 2

(D) 30°, 30°, 30°

(D) 2smnx

(D) sec’ x

(D) 3:2




Inter - (Pari-11) -A-2016

Rﬂll NG. to be filled in by the candidate. (For a" S&SSiOI‘IS) SUbjECt code 6 0 1 9
Mathematlcs (Essay Type)
Time: 2:30 Hours Marks: 80
Section -I 2x25=50
2. Write short answers of any eight parts from the following. 2x8=16
; sin x
“u cosh’ x—sinh?x =1 . . Lim
I Prove that . Evaluate: -1 e
. fx=2 _dy | —
Hii. Evaluate: %Eﬂ‘l*—;z—* iv. Find dx DY 1stprinciple Vx+2
_ _ ad+Xx 2 4
v. Differentiate w.rt x g vi. Differentiate x *?w.r.t X
i Di : X sin” 2 i Frg 2 y= =
vii. Differentiate w.r.t " 5 vili. Find & If P
. T ;
IX. Find ), if ¥ =+Xx +7I‘_“. X. Expand a@" by maclaurin's series.
xi. Define critical point.
xii. Find the interval for which function is Increasing and decreasing f (x) =4—x" for x € (—2,2).
3. Write short answers of any eight parts from the following. 2x8=16
[ 2 \,/.1—’ (JH'])
i. Evaluate: _[x X" —ldx ii. Evaluate: _f ¥ dy y>0,
cot\/;
i Evaluate: | N e x>0 iv. Find JXCOSxdx
X
L
v. Evaluate: _[ 2 ;+ X ; vi. Define definite integral. Give one example.
% 2
, dy y°+1
» 2
vii. Evaluate: ICDS Osinddo viii. Solve the differential equation dx o -
0
. ‘ ) ; ) )
X. Find the area above the ¥ ~ XIS ang the curve ¥ =5—x from ¥==1 5 x=2
x. Find9y and @ of the function defined as S(*)=x" when x=2 and dx = 0.01.
xi. Define vertex of the solution region.
Xii. Graph the solution set of the inequality 3x + 7y > 21
4. Write short answers of any nine parts from the following. 2x9=18

B FindhsuchthatA(-‘l,h},B(3,2)andC(?,3)arecn!linear.

ii- 1t(x, ¥) co-ordinates of a point are (—2,6) .Find (X, y) transformed co-ordinates if new
iii. Three points A (7, -1 ) B

iv. Find the point of intersection of linesx+4y—12=0 andx—3y+3=0

origin is ﬂ'(—S,Z) .
2,2)andC(1,4)are consecutive vertices of a parallelogram. Find the fourth vertex,




v. Find acute angle between the lines represented by X —Xxy—06 y2 =0,

vi. Show that the line 3x -2y =0

is tangent to the circle x* + y2 +6x — 4y =0

vii. Find the equation of tangent drawn from (0 , 5 ) to circle x* + y* =16.

viii. Find focus and vertex of parabola y = 6x* —1.

ix. Find an equation of ellipse whose vertices are (U= iS) and ecentricity %

X. Find ¥ so that fxf+(x+1)j+2k,=
Xi. Find unit vector perpendicular to &~

xiil. Constant force > =4 +3j + 5k

3.

=2i~6j-3k , 5> =4i+3j—k

Xiii. Find a vector of magnitude > parallel to 2/ +3j +2k

Section -II

Note: Attempt any three questions from the following.

I—cos2x

5. (a) Evaluate; {17 2

. d’y d
(b} Ify=aCDS(f??X)+bSIn (fﬂ.r) then prove that x‘l +x y-l—y — 0

Sx+8 d
6. (a) Evaluate: I(x+3)(2x-l) x

(b) Find h such that the points A(\@,

with right angle at the vertex A.

ax? dx

—1) » B(0,2) , C(M,-2) are the vertices of a right triangle

7. (a) Find the area between the X-axis and the curve y =+/2gx—x* when a>0.

(b) Find the maximum value of f(x)=4x+6y under the constraints

2x-3y<6, 2x+y=22 , 2x+3y<12 , x20 , y>0

8. (

a) Find equation of the tangents to the circle x* + y2 =2 parallel to the line x —-2y+1=0,

(b) Find the number Z, so that the triangle with vertices A(1,-1,0), B(-2,2,1) and C(0,2, Z)

is a right angle triangle with right angle at C.

9. (a) Find an equation of the parabola whose focus s F ( -3.4) and directrix is 3¥ — 4V +5 = 0

(b) Find the value of @ so that ai+ j

, i+ j+3k and 2£+i‘—21_c are coplaner.

640-012-A-

moves an object from (3 ,1,-2 )to (2, 4, 6 ).Find the work done.

10x3=30



Roll No.

to be filled in by the candidate,

Mathematics (Essay Type)

Inter - (Part-11) -A-2016

(For all sessions)

Subject code | 6 | o 1719

Time: 2:30 Hours Marks: 80
Section -I 2x25=50
2. Write short answers of any eight parts from the following. 2x8=16
. 2 12 ) . sinx
~i. Prove that €0sh” x —sinh* x =1 i. Evaluate: {*_{T o
: \E -—Jf dy
#ii. Evaluate: Lim : iv.. Find—~ by 1st principle Vx+2
T2 x—z dx
_ . a+x . ' 5 s
v. Differentiate w.rt x P vi. Differentiate x *—'x—zw.r.t X
- X
dy X
vii. Differentiatew.r.t ¥  —sin = vii. Find — - IfY=-—
a X dx Lnx
o+
ix. Find Y, if ¥ =+x +_J1=*' X. Expand @ by maclaurin's series.
xi. Define critical point.
Xii. Find the interval for which function is increasing and decreasing 1 (x)=4-x% for xe (-2,2).
3. Write short answers of any eight parts from the following. 2x8=16
P [ 2 \[J_’ y+1
i. Evaluate: |XVx"—ldx ii. Evaluate: I (y )d.}’ y>0,
~c0t\/; .
lii. Evaluate: | = dx x>0 iv. Find JXCOsxdx
X
Ik Cnx |dx
v. Evaluate: _[e ;+ Lo L) vi.  Define definite integral. Give one example.
% 2
: dy _y +1
“ 2 .
vii. Evaluate: ICDS Osinfdo viii. - Solve the differential equation dx o
0
x Fi X —axis =5-x? X==] 45 x=2
ix. Find the area above the and the curve V from to .
x. Finddy and dp of the function defined as F(*)=x" when x=2 and dx = 0.01.
xi. Define vertex of the solution region.
Xil. Graph the solution set of the inequality 3x +7y >21
4. Write short answers of any nine parts from the following. 2x9=18

i. Find h such that A ( -1 ,h),B(S,Z)andC(?,3)arec0llinear.

i. {7 (x, ) co-ordinates of a point are (=2.6) . Find (x, ) transformed co-ordinates if new origin is 0'(~3,2) .

lii. Three points A (7, -1 ),B(-2,2)andC (1,4 ) are consecutive vertices of a parallelogram. Find the fourth vertex,

iv. Find the point of intersection of lines x + 4y-12=0 andX—3y+3=0

.




Vi,
Vil.
- Viii.
i
X.
Xi.
| Xii.

Xiil.

Find acute angle between the lines represented by X - Xy —06 y2 =0,
Show that the line 3x—2y =0 s tangent to the circle x* + y* + 6x—4y=0.

Find the equation of tangent drawn from (0,5)to circle x° + y2 =16,

Find focus and vertex of parabola y = 6x” ~1.
Find an equation of ellipse whose vertices are (0=i5) and ecentricity %
Find X so that Ixf+(x+1)j+2k| =3,

Find unit vector perpendicular to ~@> =2/ =6/ -3k , 5> =4i+3j—k

Constant force 7> = 4i+3j+5k moves an object from (3,1,-2)to (2,4 ,6 ).Find the work done.

Find a vector of magnitude > parallel to 2i +3j+2k
Section -II

Note: Attempt any three questions from the following.

.5.

Ui 1—cos2x
(8) Evaluate: \Iff 3
il &y dy
Y =acos(L{nx)+bsin(Llnx x2 +x2 3 1v=0
(b) If ( ) ( ) then prove that X il y=v,

S5x+8

- (a) Evaluate: I(x+3)(2x-—1) dx.

(b) Find h such that the points A(\E =—1) 5 3(0:2) > C(;?:_z) are the vertices of a right triangle

with right angle at the vertex A.

- (2) Find the area between the X-axis and the curve y=+2ax—x* when a>0.

(b) Find the maximum value of f (I) =4x+6 Y under the constraints

2x-3y<6, 2x+y>2 |, 2x+3y<12 , x20 , y>0

- (@) Find equation of the tangents to the circle x2 + ¥* =2 parallel to the line X — 2y+1=0,

(b) Find the number Z, so that the triangle with vertices A( 1, -1 | 0), B(-2,2,1) and C(0,2, 2)

is a right angle triangle with right angle at C.

. (a) Find an equation of the parabola whose focus is F ( -3,4) and directrix is 3x-4y+5=0 :

(b) Find the value of @ so that ai+j,i+ j+3k and 2i + J =2k are coplaner.

640-012-A-
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2! 7.{:( Inter. {Part-11)-A- 2017
Rﬁll NG __________ tobe filledinbythecandidate. (FOI‘ a" SESSiOﬂS) PHPET Code 8 1 9 1
Mathematics (Objective Type) Group-1 |
Time: 30 Minutes | Marks: 20

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

- 141, ”f(x) is continuous at point X = a | then,

f(a)=Cim f(x) f(a)=tim f(x) ©) £(0)="Lim f(x) D) f(x)="Cim 1 (x)

(A) - Vb (B) x=0 X3 Xt
. sinbx
2. lim— Is equal to:
=0 s1n ax
—a b a [
(A) A (B) A (C) A (D) JH
d N
3. “{E(CDS :") is equal to:
1 =] 1 ~1
d
4. E;(SECEH) is equal to:
(A) secxtanx (B) —secxtanx (C) —sechx tanh x (D) sec/ixtanh x

5. Let) = CUS(HI'i"b), then 22 equals.
> —0 2 , .
(A) ay ® ) ) D) 4V

6. The critical value of f(x) =x’=x-2 equals.
! -1
(A) 2 B) o (€) 2 (D) -2

ﬂ{]r
i)
7.1f Y =s1n \E then "~ equals.

1 ~1 1 1
(A) 2 /x1— 2 ®) 2 fxll=s ©) 2Jx/1-x @) x1-x

r'(x)
8. '[f(x) = equals.
@) n (x) @) nf(x) ) /() o) /' (x)
) 9. Icotxdx is equé! to:

(A) (n sin x (B) (n cosx (C) —{n sin x (D) _fﬂl COS X




-

TN e T T g, BRSO

Jtan * xdx

10. is equal to:

(A) 2tan x (B) 2tanx+x

11. J‘e""‘[af(x)Jrf'(x)]dx is equal to:
(A) Ga.'r'fr(x) {B) eu_rf(x)

|
12. .[(3 i x) dx equals:

0
3 2 5
(A) /2 (B) A (C) A
13. Inclination of line joining two points (-2 ,4 )and (5, 11 ) equals:

(A) % (B) % (C) %

14. Two lines represented by ax’ + 2/xy + by = 0 will be perpendicular if:

®) h°—ab=0

(C) tanx + x

(©) e .a f'(x)

(A) fti'2+a’b=0 (C) a-b=0

15. Perpendicular distance of point P(6,-1) from line 3x+4y+1=0 equals:
(A) 1 (B) 2 (C) 3
16. (0, 0) lies in the solution set of inequality.

(A) x+2y<10 (B) x+2y=210 c) x+2y=1

2 2
z ¥
17. The co-ordinates of vertices of hyperbnla?‘ '_b_z =1 equals:

(A (0,+b) ®) (6.0) ) (0,£a)

18. The co-ordinates of centre of circle X + 3> —6x+4y+13=0 is equal to:

(A) (-3,2) B) (3,-2) €) (3.2)

19. Vector triple product of three non zero vectorsﬂﬁ!‘rl and € is denoted by:

) 2% (bxe) ) 2AB%e) c) 2(b+¢)
20. [2 k j i] is equal to:
(A) 1 (B) -1 (C) -2

621-012-A-3¢

(D) tanx—x

o) €"a f(x)

o 75

(D) %

o) a+b=0
(D) 4

(D) x—2y=10
() (¥a,0)
(D) (-3,-2)
oy 2(2-¢)
(D) 2



22

Inter - (Part-1I) -A-2017

Roll No. to be filled in by the candidate. |  (FOI all sessions)
Mathematics (Essay Type) Group-I
Time: 2:30 Hours Marks: 80
Section -I 2x25=50
2. Write short answers of any eight parts from the following. 2x8=16
2
o \E—\/E _ S5 1 "
i. Evaluate: fffffz”“‘?. i. Differentiate X _ﬁ w.ort 7.
dy -
i, Find'&‘ when ) =x.l'x+\/; ; iv. Differentiate x*secdxwrt X,
d i
V. Findz}i jif x=ysiny, | vi. Find (%) if £(x)=x%nx.
3 dy sinx
vii. Find )2 Ify =€08" X vii. Find — - IfY =X,
Cetiga X X
ix. Apply maclaurin's series expansion to prove that® = +x+g+§?+
2x+5 if x<2
; . _ . (x) x=2
x. Discuss continuity of function 4% +1 if x>2 | a :
xi. Determine the function [ (x) = X" 4+ X as an even or odd function.
” ; ; - , f(x)=cosx:xe(‘fy ?V L . . .
xii. Determine the intervals in which 2 * /2] is increasing or decreasing function.
3. Write short answers of any eight parts from the following. 2x8=16
2x X '
LA o [ -
i. Evaluate: _de : | i, Evaluate: Jcos3xsin2xdx
x+b e i
e i : . le”"(cosx—sinx)dx
iii. Evaluate: (xz+sz+ﬂ)/z iv. Evaluate: | ( ) .
| 3 | J5
]
—y N X
v. Evaluate: .[I?—-' _,_gdl. vi. Evaluate: Il x" =1 dx.
0 2
2
1ay (1+5°)
vii. What is the linear programming? viii. Solve the differentional equatinn;dx = 5
dy 2 2
ix. Using differentional, find  in the equation ¥ +2y° =16
x. Using differentional to find the value of /17 .
—7T /1
xi. Find the area bounded by €0SX function from X = 5 to X = 5
xii. Graph the solution set of the linear inequality X+ ) =5 by shading.
4. Write short answers of any nine parts from the following. 2x9=18

il.

Find co-ordinates of the point that divides the join of A(-6,3) and B(5,-2) in the ratio 2:3.
Find the slope and inclination of the line joining the points (4,6) and (4,8).

Convert 2x—4y+11=0 in normal form.
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Vi.

Vii.

viii.

Xi.

Xil.

Xii.

Find an equation of the line through the point (2,-9) and intersection of the lines 2x+5y—-8=0,3x-
Find whether the point (5,8) lies above or below the line 2x-3y+6=0,

Find the centre and radius of the circle 5x° +5y° +14x+12y~10=0.
Determine whether the point P(-5,6) lies outside, on, or inside the circle x*+y* +4x-6y-12=0,

Find focus and vertex of parabola Jf2 =-8 (I = 3) ;

' Find foci and eccentricity of the ellipse 25x” +9y* =225,

Find direction cosines of the vector ' =Xi+ Y] +2zk
Find a vector of length 5, in the direction opposite to the vector ¥ = o 21 +3k
ifa+b+c =0, then prove that axb=bxc=cxa.

Find the value of @ , so that the vectors @i+ j . i+ j+3k and 2i+ =2k are coplaner.
Section -II

Note: Attempt any three questions from the following. 10x3=

5. (a) Evaluate: 3,

. (a) Evaluate: _[

. (a) Evaluate: I

tan @ —sin 6

Lim————
sin” &

(b) ¥ =S . y= sin(m6) hen prove that ( =x*)y, —xy+m’y =0

N

SIN X+ COS X

dx

(b) Find equations of two parallel lines perpendicular to 2x—y+3=0 such that the product

ofthe X— and Y ~intercepts of each is 3.

3
e —3]dx
=1
(b) Minimize z =3x + y subject to the constraints 3x+5y 215, x+6y29,x20, y20.

(a) Show that the lines3x—2y =0and 2x+ 3y =13 =0 gre tangent to the circle x>+ +6x—4y=0.

(b) Prove that, by vector method cos(a— ) =cosacos f+sinasinf.

(=1 (=1 _,
2 9

(a) Find centre, foci and vertices of the hyperbola
(b) Find volume of the tetrahedron whose vertices are A(2,1,8) , B(3,2,9) , C(2,1,4) and D(3,3,0).
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Inter. (Part-II)-A- 2017

Rﬂll NG.____,_________I'G befilled inbythecandidate.

- MathematicS (Objective Type)
Time: 30 Minutes

(For all sessions)

Group-11

Paper Code 8

Marks: 20

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

- question with Marker or pen ink on the answer sheet provided.

1-1.

6.

.

8.

8.

tan Ax is equal to:

E—,r +€1‘ E.'r: _E“.r
(A) S B) T i
f.r'm—a—]s SRS
v>0 {ap x '> €qua to:
(A) O (B) 1
{ﬂg(]ﬂL:—Jl is equal to:
(A) e (B) JL;
d 1
E{(}‘j +4)3 is equal to:
-3 -2

{A) I(.\'3 +4) 2 (E] (.1‘3 -}-"-'!)3 21’1

oy 2 (7
if./ (I) ~ 7 then ! ( ) is equal to:

}_ 5
(A) g (B) E
== fog (x) =
a8 X ' f

(A) J Lg("'ﬂg (x) (B) f[g(x)}g (x)
_C_j_az’,.\' —
dx

(A) Aa™(na ) a*'lna

Ifnx =
(A) x—x(nx+c (B) xinx+x+c¢
sin2x dx =
—COS2Xx COS2Xx

(A~ B)

e —c

(C) Er_'_e-x

(C)

(C) 0

(C) f’[g'(x)]

Ax

(C)

fna

1

(C) ;'I'C

(C) 2c0S2x

e +e
(D) )

(D)

b |

0 | —

(D)

()

D) 3

(D) f'(x)-g'(x)

Ax

0

(D) x{nx —-x+c

(D) —2¢c082x




]
dx =
10. j.xz_},g
| T T 1 b X
—sin~ — —tan~ — ZcosT g el
w377 3 ® 3" 3 © 37 3 ) 3
[
cosx dx =
11.
b5
(A) O (B) 1 (C) 2 D) -2
X y
[ Xy =cC X+y=c

B x~° ©) (D)

(A) y
ax* +2hxy+by* =0 ; : ST . +
13. If Y+ 0) is homogeneous equation then pair of lines are real and coincident if:
A) I* —ab>0 (B) W —ab<0 ) " —-ab=0 @) "+a+b=0

14. Two lines having slope m, and m, are perpendicular if:

(A) m, =-m, (B) 1+ m m, =0 (C) m,m,=1 (D) m,m,=0

15. The point (3,-8) lies in the quadrant.

P (B) II (C) III (D) 1V

16. If x = ~3 s, sfies.
(A) x+3>2 (B) x+3>-2 (C) 3x>0 (D) x+2>5

2 2 a . :
17. 1f X" +Yy +2gx+2 fy+c=. -epresents equation of circle then radius » =

—_—

B g+ [ +e ® g - ¢ ©) Vg~ +c O) g+ —c

18. If€ is eccentricity then conic represents ellipse.

—k . 1 ) e
19. If v :_‘/54!_5.} then v =

(A) 1 ®) 0 (C) 5 (D) 4
20. The value of i.ixk =

(A) 0 (B) -1 ©) J (D) 1
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Inter - (Part-II) -A-2017

Roll No.

(For all sessions)

to be filled in by the candidate.

Mathematics (Essay Type) Group-II
Time: 2:30 Hours Marks: 80
Section -I 2x25=50
2. Write short answers of any eight parts from the following. | 2x8=16
|
. Write down domain and range of ¥ =5°¢* i Evaluate: £ (1+2h)i
(1 \/;_‘/.2- ; y:i : d_y g
iii. Evaluate: 2 x—9 iv. If X2 , then find dxat .
1 2
v. Differentiate [\E'_TJ : vi. Differentiate 3‘52-56‘343‘3.
| b
dy
vii. Differentiate sinx w.r.tcot x. viii. Find :f_; If y =‘\fJJC+‘\E.
dy * -1 3 3F o 2x =2x
ix. Find - If =sinh™ (x°), x. Find J (%) 1ff(x):f”(’4€ e )
ay 2
xi. Find - Xy +y =2
xii. Find ¥, fy=x’e".
3. Write short answers of any eight parts from the following. 2x8=16
1 dx
i. Evaluate: I—""""—l +msxd’f. i Using differential, find 7/ if X —{nx=c
2
(1-Vx) j
iii. Evaluate: I T dx ,(x>0). iv. Evaluate: jsecx 2
X
2
rsec” x o :
; dx : . te” (—sinx+2cosx)dx
v. Evaluate: | m : vi. Evaluate: J ( ) :
. gj_
) dx costdt
. Evaluate: J ..2 . . : :
vil. Evaluate I x iD viil. Evaluate "
dy 1-x ‘
x. Solve the differential equation ;. ¥
: dy
x. Solve the differential equation S111 Y C0Secx “{;,; =1
xi. What is an optimal solution?
xii. Graph the solution region of linear inequalites X+ y <5 , y—-2x<2,
4. Write short answers of any nine parts from the following. 2x9=18

.. Find the co-ordinates of point that divide the join of A(-6,3) and B(5,-2) in 2:3.
ii. The two points P(3,2) , O'(1,3) are in XY — coordinates. Find P in XY — coordinate system.,

lii. Write the equation of line in two intercept form.

iv. Find the equation of line passing through A(-6,5) having slope 7.




/. Find the slope of the line 2x+y—3=0,
i. Find the radius of the circle x* + y° +12x—10y =0 .
ii. Find the centre and radius of the circle x* + y‘? =35,

ii. Write the standard equation of Hyperbola.

2 ;
x. Find the focus and the directrix of parabola J = -12x

x. Find a vector whose magnitude is 4 and is parallel to 2?—3}'+6§.

{x}"+(cx+1)}"+2ﬂ=3_

i. Find & so that
ii. Find Hx a ,where 3=3?—2}'+E ; B=?+}

ii. find the value of 3 .k xi .

Section -II
ote: Attempt any three questions from the following. 10x3=30
1—cos px
; L1
5. (a) Find the : 50 1—cosgx -
b) If :—Jtan +\/tan ++/tan x + o th th t(2y—1)—“l;-=sec2x
(b) Ity = X x en prove tha T :

3 4
6. (a) Evaluate: Jtan xdx

| (b) Find equations of two parallel lines perpendicular to 2x—y+3=0 such that the

F product of the x —intercept and ) —intercept of each is 3.
Y
fcos@+sind

7. (a) Evaluate: ao .
(2) vauae! P05’ O

(b) Graph feasible region and find corner points of 2x+y <10, x+4y<12 , x+y <10, x20, y20,

8. (a) Find the length of chord cut off from the line 2x+3y =13 by the circle x* +yf2 =20,

(b) Find two vectors of length 2 parallel to the vector ¥ =2i—4j +4k .

9. (a) Find the equation of ellipse with foci (iEh/iU) and vertices (i6’0) ;

) 12+0+¢=0 ton prove that X2 =bxc=cxa
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* 'if( ‘iﬁi’ Inter. (Part-11)-A- 2018

ROZI NO. to be filled in by the candidate.

(For all sessions) PaperCode | 8 [ 1 | 9 | 5

-Mathematics (Objective Type)
Time: 30 Minutes L | Marks: 20

- NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

- question with Marker or pen ink on the answer sheet provided.

1.1. Point of concurrency of medians of a triangle is called:

(A) orthocentre (B) in-centre (C) ex-centre (D) centroid
. 8y
2. The lines represented by @~ +2/xy+by° =0 410 real and coincident if:

(A) > ab (B) W =ab ©) 1 2ab ©) B i

3. Equation of the line hfsecting the first and third quadrant is:

RS ® Y =% (€) y=x+¢ (o) W =¢
4; Siope of the line which is perpendicular to the line 2X —4y+11=0 .
] 1
A) — B) —— C D) -2
. g B —3 (€) 2 (D)
5. Point (1, 2), satisfies the inequality.
(A) 2x+y>5 (B) 2x+y=5 (C) 2x+y<3 (D) 2x+y<5

2 2
6. The centre of the circle (¥+3) +(¥ = 2) =16 equals.

@) (3.-2) o m(-3.2) © (3.2) ® (3-2)

7. The eccentricity of 2 —x% =1 , equals.

2 -2 J5 w5
(A) /5 B) /5 © 5 DO 5
) 2i.(3x k) is equl t.r:-:
- (A) O (B) 2 (C) 4 (D) 6
8. cosé, equals to: o | | axb
(A) a.b @ oD (C) axb (D) a
a

1011/ (%)= ”x+4,thenf(x2 +4)

Is equal to:

A * -8 B) Vx'-8 ) VA8 (D) X +8




.. smTx

1. is equal to:
(A1 (B) 7 C) 7 (D) O
" . -
12. Ems * is equal to:
e ; . ) y .
(a) —Sin“x (B) 28I x (©) 2sin x.cusa. (D) 2COS X SIN X
IZ xﬁ xd
13 T+x+ 2 ¥ |§ ¥ 4 S iIs Maclaurin series of:
A) e | (@) Sin¥ | ©) % D) fn(1+x).
dy
2
14, fX=at’, y= 2at . then 4. is equal to:
| 1 | - 1
! - . e
(A) B) ; (C) (D) ;2
d ]
15 dx\ ax+p ) s equal to:
-1 -a , "
(A) @ +b ®) (ax+b) ©) (ax+b)’ pj )
16. If y =sin3x, then - is equal to:
(A) Osin3x (B) —9sin 3x ©) Ocos3x (D) ~Qcos3x
1
I 1 dax ‘
1?.0 1—x? is equal to:
T T 7T 7T
A) o (B) 5 € 4 O ¢
dy :
18. Solution of the differential equation - = €05 X is:
(A) Y =sinx+c B) Y =-sinx+c € Y=cosxtc ., Jf=fii($iﬂx)+6
lanx 2 =
19. .[e (sec” x) is equal to:
(A) e+ (B) ¢ -tanx+c ) ¢.secx+c  (p) € +e
2
.2 2
20. J.(:‘ _Fl)d‘)L is equal to: .
0
3 14 5 8
(A) 10 | (B) 3 €) 3 ' D) 3
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Inter - (Part-11) -A-2018
Rﬂ'l! Nﬂ. to be filled in by the candidate., (For a" SESSEO“S)

Mathematics (Essay Type)

Time: 2:30 Hours Marks: 80
- Section -I
2. Write short answers of any eight parts from the following. 2x8=16
-1 y 3
- i Prove the identity sec /i’x =1—1anh? x. i. Find f(l) iff(.l) =3x"+7 _
fmit SNy : ' x y= i‘l—
. Evaluate ot T iv. Differentiate w.r.t , \/lg__E_] ;
. d.l) ; 2 : v 3 4
V. Fmdg if Xy+y =2, vi. Differentiate sin” x w.r.t cos x.
.I. . =1 x o a ¥
vii. Differentiate €03 — Jw.rt X viii. Differentiate (f”l) w.rt x.
r = l - d_}’,
ix. Find/ (J‘) fff(x) =x'e*. X FindE}; if y=xJlnx

= ]
. : J;z . J; — X .[..._
xi. Find 2, if =

X

xii. Determine the interval in which function is increasing or decreasing

A s T
for the mentioned dumain.f(l)_ms}‘ ‘J“E( / ? A)

3. Write short answers of any eight parts from the following. 2x8=16
e f o= 1 o] —x?
i. Evaluate; J* (\‘/IJr])dJ". i. Evaluate: ax.
1+ x
[ _2-7‘: P ] 7
ii. Evaluate: |73 dx. iv. Evaluate: J¢ (T”’”‘]ﬂ@
J 4y X
i [
N : x? +1]dx
v. Evaluate: s vi. Evaluate: .
_ ]—sinx s

vii. Define the definite integral. viii. Solve the differential equation ydx +xdy =0 :

= <
ix. Define the corner point. x. Graph the solution set of linear inequality 2* + 7 <0

.2 .
xi. Find9Y and @ iny = X* +2x , when X changes from 2 to 1.8.

. Xii. Find the area between the X — axis and the curve ¥y =x +1fromx =1 tox =2,



4. Write short answers of any nine parts from the following. 2x9=18
i. Find /1 such that A(—i,h),B(.’i,E) andC(?,B) are collinear.

ii. Find the centroid of the triangle having veﬁices (-—2, 3) ; (—4,1) and (3, 5) ;

ii. Find an equation of the line through (—5, —3) and (9,—]).

iv. Find the lines represented by the homogeneous equation 3x? + Txy+2 y‘j' =0.
v. Find measure of the angle between the lines represent by x? - Xy = 6_}’2 =0.
vi. Find the equation of circle with centre (ﬁ,—3~/§) and radius 2\5.

vii. Find the condition that the line Y = 71X +¢ may touch the circle x° +y'=a’.

viii. Derive equation of ellipse in standard form.

ix. Find centre and foci of the X" =" =9
x. LetU=i+2j~k and V.=3i~2j+2k fing|U+2V].
xi. Find® so that|ﬁi+(ﬁr+])i+2k’ =3
xii. Find a vector perpendicular to each of the vectors 4 = 2£'+:{.+;£ and b = 4£'+2£_E.

xiii. Find the value of 21 X2 j.k

Section -II |
Note: Attempt any three questions from the following. 10x3=30
ti tan @ —sin @
5. (a) Evaluate: gﬂﬁ" sin® @
@ _y Y =tan”

(b) Show that 7, — . if x
6. (a) Evaluate: I*Jl‘z +4dx .

(b) Find the lines represented by equation. Also find measure of

A
Yy

the angle between them. 2x” +3xy—53% =0

: 2
] xA +2)
7. (a) Evaluate: _[ % dx |
% X
(b) Minimize z =3x+ ¥ subject to the constraints 3x+5y 215, x+6y 29, x>0, y>0.

8. (a) Find an equation of parabola if focus is(—3=]), directrix ¥ =1,
(b) Use vectors to prove that the diagonals of a parallelogram bisect each other.
9. (a) Find the centre, foci, eccentricity, vertices and directrices of 9x ? _}’2 =18

(b) Prove that Sin(e + ) =sina cos B+ cosasin by using vector method.
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VX @ * @k ; Inter. (Part-11)-A- 2019

Rﬂll NG. o be filled in by the candidate. (FOI‘ a" SESSiOHS) Paper Code 8 1 9 D

MathematicS (Objective Type)

Time: 30 Minutes | Marks: 20
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
= question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1-1. If a line "("intersect X —axis at(a,0), then "4" iscalled _____ of line"(".
(A) y-intercept (B) X —intercept (C) slope (D) inclination
o, YEMXHCie  form of equaion of line:
(A) point slope (B) intercept - {(C) normal (D) slope intercept

3. An equaion of line bisecting I anc i1l quadrant is:

(A) XxX=Yy (B} X=—=y {c} _14-2))20 (D} x.._zy._:[}

4. x=0 s the solution of the inequality.

(A) 2x+1>0 (B) 2x+1<0 (c) 2x+1<0 (D) 2x—1<0
5. The centre of circle (X + 1)2 +(y- 2)2 =26 is:
(A) (1,2) B) (-1,2) (€) (-1,-2) (D) (1,-2)
6. The equation of directrix of the parabola x* =4day s
T oW rEe By =4 © r=71 (o) 7=
2y
7. The centre of Ellipse Y +'1— =16 js;
(A) (4,1) B) (1,4 (C) (-1.,4) (d) (0,0)
U Fal
8. If ¥ is any vector, then | J=
U -
(A) U (B) |U] (C) |U\ (D)
9. If2i+a j+5k and 3i+j+@ k are perpendicular, then a = |
(A) O (B) 1 (C) -1 (D) 2
10. The domain ng(.r)=2x-5 is: | |
(A) IR (B) the set of positive No.

(C) The set of negative real No. (D) The set of non-negative real No.




n

1)
11. ff!??[]-l——] =
A== n

(A) B (©) 2
d
19 &;(x—S)(B——x)z
(A) 2x+8 (B) —-2x+S . (C) 2x-8
dy _
13. 1f3x+4y+7=0, then 4. ~ |
3 4 =
(A) 4 (B) 3 € 3
14, E(SEC .1') -
(A) secxtanx (B) secx (C) cosecx
15. lff(x)r—sinx _then f’((}) = -
(A) 0 (B) 1 . (©) -1
16. Differential of )} is denoted by:
ﬁ
(A) dy' (B) dx (C) ay
| ] tan™' x _
17. J1+x2€ s
(A) EEEH-FC {B) etﬂn.x_'_c (C) E—Ianx+c
18. If‘nxdx =
]
(A) -1 (B) O (C) 1
dy dy .
19. The order of differential equatinn?&-ﬂ_']'d_x_?’x =0 is:
(A) 2 (B) 1 (C) 0
20. Ifaline "{" is parallel to x — axis , then inclination=
(A) 90° (8) 0° (C) 30°

621-012-A- W WYX

(D) ¢

(D) x+38

D) 4

(D) —secxtanx

(D) 2

(D) dx

t:m"x

(D) € =il

(D) e

(D) 3

(D) 45°



Inter - (Part-11) -A-2019

ROZZ Nﬂ. ‘ io be filled in by the candidate. (FOI‘ EI“ SESSiOI‘IS)

Mathematics (Eséay Type)

Time: 2:30 Hours o Marks: 80
Section -I
2. Write short answers of any eight parts from the following. 2x8=16
' " n 2
x'—a x  F=9
i. Evaluate the limit r{fﬂ_—x”’ TR i. Discuss the continuity of f (1) - .3 if X # 3
dy o, ]
i, Find = -if x” ~ 4xy -5y =0. v. Prove that 7 %% *=7.7.
d.r}” ¥ .2 2 2
v. Find it y = (x+1)". vi. Find Y2 f¥" +y =a°,
dy . 2 . 9 4
vii. Find—if ¥ = (sin 26 ~cos30)". viii. Differentiate SIN” X w.r.tcos" x_
Noau ) ! R
ix. Find the Maclarin Series for f(l) EnRane, x. Find f (X) iff(*l) T e 41
xi. Express Area "A" of a circle as a function of its circumference "C",
-T T
xii. Determine the inferva'= for which f(x) is decreasing and increasingf(x) =CO0sX X € [T’EJ .

3. Write short answers of any eight parts from the following. 2x8=16

(J:x_+_]__] dx ,(x:.:-(])_ 5 Eualiite: ‘\”-—CDSZJL‘dI,(I—CGSEI}O)_

i. Evaluate: | J— 3
X
iii. Evaluate: | (.fnx)x;- a’; ’ (“" >0) iv. Evaluate: | *SIXCOSX Xy narts,
Emlan"x
. o : ;
v. Evaluate: J-’Lan R d)‘. vi. Evaluate: (]er?') dl.
vii. Define corner point or veriex. viii. Define feasible region.
3 2
3 2\ . :
ix. Evaluate; J‘(J‘ +3x )d‘}'. X. Evaluate: jxl +2d‘1 .
]

=1

xi. Find 0y and dyof the function defined as f(l) = 1'2, when x =2 and dx =0.01.

xii. Use differentials to approximate the value of §/17 .
4. Write short answers of any nine parts from the following. 2x9=18 1

I. Find the points trisecting the join of A(-1,4) and B(6,2).

ii. Define inclination and slope of a line.

iii. Derive slope-intercept form of equation of straight line.



iv. Find the area of the triangular region whose vertices are A(5,3) B(-2,2) C(4,2).

v. Find equations of lines represented by 20x” +17xy—24y* =0,

vi. Find focus and directrix of the parabola x> =~16y .
l vii. Write an equaion of parabola with focus (2,5) and directrix )/ = I
_r viii. Find an equation of ellipse having centre (0,0) focus (0,-3) vertex(0,4).

2 2
ix. Find centre and foci of the ellipse X +4y° =10

V3 -

e om
x. Find unit vector in the direction of veclorV = —i +— .

xi. Define position vector.

xii. Find a vector whose magnitude is 2 and parallel to = +_}: +k.

xiii. Write vector triple product and scalar friple product.

Section -1II
Note: Attempt any three questions from the following. ' 10%3=30

a’ —1

5. (a) Prove that:fﬂ’g =log,”

dy y ¥y _ . aX
(b) Show that - = if 5~ 2" >

x ]- ']' Sin X d »
6. (a) Evaluate the integral: IE 14 coS x 4

(b) Find k so that the line joining the points A(7,3) , B(k,-8) and the line joining the
points C(-4,5), D(-6,4) are perpendicular.

7. (a) Find the area bounded by the curve y = .x(.r—l)(x-l—i) and the x — axis

(b) Find the corner points of the feasible region intersected by the lines:

2x+y<8; x20
x+2y<14; y=20

8. (a) Find equations of the circle of radius 2 and tangent to the line X — ) — 4=0 at A(1,-3).

(b) Prove that the line segment joining the mid points of two sides of a triangle is parallel to

the third side and half as long.
9. (a) Find Eccentricity foci and directrices of hyperbola 4x* —8x — Y2 =2y=1=0.
(b) Find moment about A(1,1,1) of resultant of the concurrent forces’ =2, 3i+2j—k , 5/ + 2k where
P(2,0,1) is their point of concurrency.
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Heke Fok

IRoll No. 10 be filled in by the candidate. l Inter. (Part-II)-A4-2022
Mathematics (objective Type) (For all Sessions) | PaperCode [8]1]9 8]
Time: 30 Minutes Marks: 20
Note:  You have four choices for each objective type question as A, B, C and D. The choice which you think is
correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or
filling two more circles will result in zero mark in that question. Attempt as many questions as given in
objective type question paper and leave others blank.
1.1. Slopeof 12x+35y—-7 = 0 is
' 12 -12 1
(A) %s (B) %s © Jis (D) 12
2. Normal formof x+y = 1 is
s . T 1 b . I
xcos§+ysm— = — X cos—+ysin— = |
() P ®) 2 :
xcosn+ysinn =
©) 4 2 (D) x+y =2
3. If P(x,y) = 40 x+ 50y then P(1,-1) =
A) 10 (B) 40 ©) 50 D) -10
4. Centre of 5x2 +5y2 +24x+36y+10 = 0 is
(-u —M)
A) (-12,-18) @ \2 © (12,18) (D) (-12,18)
5. Axisof y2 = —4ax is
A) y=0 B) y=a © x=0 D) x=a
. xr Yy
6. Vertices of —+<=1is
a b
@) EBO @) @) © a0 @) 3 -b)
7. Scalar triple product of coplaner vectors is
A 1 ®) 0 <€ 2 (D) -1
8. 2ix 24' .2k _
A) 4 B) 2 ) 8 (D) 16
9. Which one is even function
(A) sinx (B) cosx (C) tanx (D) x'!
10. 1t f(x) = Vx?-9 ; then range of f(x) is
(A) (0,-) (B) (-, ) ©) (-5,5) (D) (0, +0)
1. d x_
dx
(A) 2¥4n2 (B) 2*fne (C) 2¥4n4 (D) x 2!
12. Leibniz used notation for derivative.
. - d
@A) £ ® f'® (©) D f(x) ® -
13. d
— (cosec 7x) =
(A) cosec7xcot7x (B) —cosecx cotx (C) —7cosec7xcot7x (D) cosec7x tan7x
14. Which one is decreasing function
(A) 2-4x (B) 4x-2 ©) 4x (D) 4x+5
15. d(xy) = :
(A) xdx +ydy (B) (x+t+y)dx (C) xdy +ydx (D) xdy - ydx
e I secxdx =
(A) fn|secx—tanx|+c (B) fn|secx+cotx|+c
(C) fn|secx+cosecx|+c (D) fn|secx+tanx|+c
17 1
[IEEE—
0
A) 1 B 2 € 0 ® 4
1 1
18. Solve —dy=—dx
y X
(A) y =xc (B) y = —xc © y=x+c D) xy=c
19. Distance between A(-1,2)and C(2,-6) is
(A) V73 (B) 470 < 7 (D) 8
20. If m; =m; then lines are
(A) perpendicular (B) not parallel
(C) parallel (D) neither parallel nor perpendicular
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Roll No. to be filled in by the Candidate Inter . (Part-11)-4-2022
MATHEMATICS (Essay Type) (For All Sessions)
Time: 2:30 Hours SUBJECTIVE Marks: 80
SECTION - I
2.  Write short answers to any EIGHT questions: 2x8=16)
i- Search the domain and range from the real numbers of g(x) = x*—4
ii- The real valued functions f and g are defined below. Find (a) f*(x) (b) g*(x),
1
f(x)= o ox#l, gx) = x2+1)
Vx-1
. 4 2
iii- Evaluate Lim 5x3 10x2 * 1
X—>o —3x7+10x°+50
iv- Evaluate Lim tan 6 —sin O
60 sin’0
v- Give any example and sketch graphically discontinuous function.
3,
1 7
vi- Differentiate w.r. to ‘x’; ddes &jg( X"
X
d 2, .2
viie Find & jfy= 2 FX
dx a 2_ xz
viii-  Find the derivative w.r.t. variable involved cos+/x ++/sinx
ix- Find f'(x) if fx) = £n(\/e**+e 2
x- Produce y2 from y = e** sin bx
xi- Determine the intervals in which f is increasing or decreasing;
f(x)= cosx xe(—g,f
2 2
xii- The perimeter of a triangle is 16 centimeters. If one side is of length 6 cm, what are lengths
of the other sides for maximum area of the triangle?
3. Write short answers to any EIGHT questions: (2x8=16)
I~ Use differential find j—y; x*+y? = xy?
X
e o2X X
ii- Evaluate € +° i
X
J e
ili- Evaluate secx dx
iv-  Evaluate sin”! x dx
o % 1
v- Evaluate e" | —+/{nx |dx
J X
vi- Evaluate __5_x_—f8__
J (x+3)2x-1)
2
. X
vii- Evaluate 5 dx
X7+ 2
n
viii- Find the area between the x-axis and the curve y = sin2x from x = 0 to x = 5
ix- Show that the points A (-1, 2); B(7, 5) and C(2,-6) are vertices of a right triangle.
x- Find an equation of vertical line through (-5, 3)
xi- Convert 15y — 8x + 3 = 0 in slope-intercept form.
Xii- Find the lines represented by ; x°—2xy sec o +y? = 0



4. Write short answers to any NINE questions: 2x9=18)

Indicate the solution set of inequality 3x —2y > 6
What is objective function?

Write an equation of circle with centre at (\/E, - 3\/5) and radius 242

iv- Check the position of the point (5, 6) with respect to the circle x*+y? = 81
v-  Find an equation of parabola with focus (-3, 1) and directrix x = 3
vi- Determine the equation of ellipse having foci (+3, 0) and minor axis of length 10.
2 2
vii- Calculate the eccentricity of =— — L
16 49
viii- Find an equation of the normal line to y2 = 4ax at (at2 , 2at)
ix- If O is origin and OP = AB , find the point P when A and B are (-3,7) and (1, 0)
Respectively
X-  Write the direction cosines of v =2i+3j+4k
Xi-  Prove that in any triangle ABC, a®=b? + ¢? — 2bc cos A
xii- If a+b+c=0, thenprovethat axb=bxc=cxa
xiii- A force F= 3i+2j—4k isapplied at a point (1, -1, 2). Find the moment of F about
the point (2, -1, 3)
SECTION —II
Note: Attempt any three questions from the following. 10x3=30
e d X _
S-  (a) Show that it a”-1 =log a
x—=>0 x 8

(b)

6- (a)
(b)
7-  (a)
(b)
8- (@
(b)
9- (a)
(b)

. 1
Show that y = x* has maximum value at x = =

4+7x%

Integrate f e i
(1+x)°(2+3x)

Find the point which is equidistant from the point A(5, 3), B(-2,2) and C(4, 2).
What is radius of circumcircle of triangle ABC.
%
Find I cos?0 cot?0 d0
3
Minimize Z = 2x+y subject to constraints x+y > 3, 7x+5y < 35 , x>0, y=>0
Find the area of the triangular region. Whose vertices are A(5, 3), B(-2, 2), C4,2)

Find the length of the chord cut off from the line 2x + 3y = 13 by the

circle x? + y? = 26
2 2 53 y2
Find equations of the common tangents to the two conics T3 +=—=1land —+-—=1

25 25 9

Use vectors, prove that the line segment joining the mid-points of two sides of a triangle
is parallel to the third side and half as long.
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